


 

s@lm@n 

 

SAP 
Exam C_BOWI_4302

 

SAP Certified Application Associate - SAP BusinessObjects Web

Intelligence 4.3
 

Version: 3.0

 

[ Total Questions: 218 ]



 
Which two statements about the If() function are correct?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Can contain a SQL statement 
B. Can contain a Case expression 
C. Contains a Boolean expression 
D. Can contain nested If() statements 
 

Answer: C,D

 

 

 
Which three features can you use in Interactive View mode of BusinessObjects Web
Intelligence 4.0?
 
There are 3 correct answers to this question.
 
Response:
 
 
A. Sort 
B. Filters 
C. Format Cell 
D. Merge Dimensions 
 

Answer: A,B,C

 

 

 
Which four Report Elements can you select from the Templates tab of Web Intelligence?
 
There are 4 correct answers to this question.
 
Response:
 

Question No : 1

Question No : 2

Question No : 3
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A. Data 
B. Report 
C. Tables 
D. Charts 
E. Free-standing cells 
 

Answer: B,C,D,E

 

 

 
Discuss all the advantages link to organizing a report in the section
 
There are 2 correct answers to this question
 
Response:
 
 
A. You can have multiple blocks projected from the same microcube within a single report,
all sub-grouped to the sectioned level 
B. You can have single block projected from the same microcube within a single report, all
grouped to the sectioned level 
C. You can insert subtotal cells, repeated in each section, which are created by the simple
process of drag and drop 
D. You can insert tables, different in each section, which are created by the simple process
of drag and drop 
 

Answer: A,C

 

 

 
Which three objects represent qualifications from a local data provider?
 
There are 3 correct answers to this question.
 
Response:
 
 
A. BLOB 
B. DATE 
C. TEXT 
D. NUMBER 

Question No : 4

Question No : 5
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Answer: B,C,D

 

 

Why do you use the "Turn into" functionality?
 
A. To change the data source of a document 
B. To change the table into a chart 
C. To change the object of a section 
D. To change the data type of an object 
 

Answer: B

 

 

 
Which two are running aggregate functions in Web Intelligence?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. RunningMax() 
B. RunningSum() 
C. RunningTotal() 
D. RunningMean() 
 

Answer: A,B

 

 

 
Which three elements are parts of a query filter?
 
There are 3 correct answers to this question.
 
Response:
 
 
A. Class 

Question No : 6

Question No : 7

Question No : 8
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B. Object 
C. Operator 
D. Operand 
 

Answer: B,C,D

 

 

 
Which two Web Intelligence Rich Client authentication methods enable you to export Web
Intelligence documents (WID) to the Central Management Server (CMS)?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. LTM 
B. LDAP 
C. Offline 
D. Enterprise 
E. Standalone 
 

Answer: B,D

 

 

 
Which three statements are true of calculation contexts?
 
There are 3 correct answers to this question.
 
Response:
 
 
A. If no context is defined the default context is assumed. 
B. You can use NoFilter() as an extended syntax keyword when using contexts. 
C. The ForEach context operator automatically takes the dimensions in the block into
account. 
D. You must place parentheses around the values listed after the Where keyword when
using the Where operator. 
 

Answer: A,C,D

Question No : 9

Question No : 10
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Which character should you use to reset the result of the RunningSum( ) function for either
a break or a section?
 
Please choose the correct answer.
 
Response:
 
 
A. Semicolon (;) 
B. Percent (%) 
C. Underscore (_) 
D. Comma (,) 
 

Answer: A

 

 

 
Which wildcards can you use in a query filter?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. ? 
B. % 
C. - 
D. * 
 

Answer: B,C

 

 

When scheduling Web Intelligence document, what output formats are available? (2
answers)
 

Question No : 11

Question No : 12

Question No : 13
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A. Microsoft PowerPoint (PPT) 
B. HyperText Markup Language (HTML) 
C. Adobe Acrobat (PDF) 
D. Plain Text (TXT) 
 

Answer: C,D

 

 

How do you access the Format Table option?
 
A. Right click the footer of the table 
B. Right click the column header of the table 
C. Right click the border of the table 
D. Right click the data of the table 
 

Answer: C

 

 

What happens if an operational prompt is blank when you execute a query?
 
A. The query filter is ignored. 
B. The query returns an empty record set. 
C. The query is filtered by the default value of the prompt. 
D. The query is filtered by the last value selected. 
 

Answer: A

 

 

 
Which message appears when you select "Use query drill" while Scope of Analysis is set in
a BusinessObjects Web Intelligence 4.0 report?
 
Please choose the correct answer.
 
Response:
 
 

Question No : 14

Question No : 15

Question No : 16
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A. The Scope of Analysis is empty. 
B. The Scope of Analysis is not empty. 
C. The query drill mode option is enabled. 
D. The query drill mode option is not enabled. 
 

Answer: B

 

 

 
Which two are limitations of a detail object?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. It cannot be drilled on. 
B. It cannot be used in the report filter. 
C. It cannot be merged in a document. 
D. It cannot be used in the WHERE statement of the query. 
 

Answer: A,C

 

 

 
Which two methods can you use to aggregate measures at the section level in
BusinessObjects Web Intelligence 4.0?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Drag the measure from the Data tab into the section header. 
B. Copy the measure from the Data tab into the section header. 
C. While pressing the ALT key, drag the measure from the table to the section header. 
D. While pressing the CTRL key, drag the measure from the table to the section header. 
 

Answer: A,D

 

 

Question No : 17

Question No : 18
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Which two break properties can you use when setting Break Priority?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Order Breaks 
B. Vertical Breaks 
C. Crosstab Breaks 
D. Horizontal Breaks 
 

Answer: B,D

 

 

 
Elucidate the advantages of saving formulas as variables?
 
Please choose the correct answer.
 
Response:
 
 
A. Use as options available in the Format and Report Element toolboxes 
B. You can reuse the formula without having to enter it each time 
C. Create the formulas and feed it with all its dimensions 
D. Use variables in any report within the document 
 

Answer: C

 

 

 
Which four authentication methods are available for Web intelligence Rich Client?
 
There are 4 correct answers to this question.
 
Response:
 
 

Question No : 19

Question No : 20

Question No : 21
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